(1B : LBk 5ARR)

BEE (N7 L)

Ne=]
12=

AR T — 3

ME 3w,

-
-

RDORY bV EFEZEEET3ERS E L THEXF

B 1.1.

1

L, X7 FL 2a ?54:0—50/

Zxf

(1) M1ox7tral

1
§b.

NL, X7 Fla-—

-
-

(2) 2DX7 F)va,bl

[ N o [ T e B B
T T I (N A Y B
Lo [ R
B T i e el e B e T i e Bl e e e e Bl
A
T T T 1 T T T T
e
o\ R
T R e e N A I I
O R R R | ﬁ\\p\r\,\r\,\p\r\
[ R R E B [ T B
B Bt il i el el B el ek Nl el Bl e el e el Sl el
N A A
o T
B i it S S e B L i o i I B e e
o L
[ (O
R R R il @ S I T R S
o I I [ T N B
i el et - T T rE AT T T
L
o o
B i it e e e B e e e e e e e e e A e
L e L A A
T T T T T T T T T T
Ty T
[ R T T B B [ T e B B
T TS T TS T T T T T T
[ R T T B B [ T e B B
[ T R R B R | [ N R T
B I B B Y R B
o o
i T i e i e B e T e e e e B e e e
A
] T T T
ey
[ T R T B R A [ N N T
B T e e e e iy B R N R
T T [ Yy B Ey R R B
[ T R N B R [ N N I
B Bt il Bt il iy Aol el et i s Bl i Bl it Bl Bl i
RN R U D R B L\&\\\,\,\L\,\L\\,\,\\
o R
i il e e S B e I N Bl eI R e B el
L L
T T T T T T T 1 O
T O P N O T R
[ T R R B R | [ N R T
ST TS TS T[T T T T
o
R L
B e e T e e R e e e R EE A S
L s A
] T T T
A
[ T R T B R A [ N N T
T TS T AT T T T T T T T T T
[ R [ [ [

X 1

FHINZ BV a
7, uDRES ||ul| ZROEI v,

L

7N

L, RO FLu ZIRS5E

-
-

=(1,-2) !

(2,1), b

FE 1.2.

%E0,

(1) u=—-a—+bd
(2) u=b+3a

(3) u=2a—->5

%% &9 FEH c2ROZI 0,

RDXT F)LalZl, ca DEIDN1IC

fEd 1.3.

(1) a=(=3,5)

(2) a=(1,1)

(\/§7 _3)

BRE 1.4. XOXT P u,v D (i) B ||ul, ||v|, (i) NE

(4) a

(u,v) BLO (i) u & vD

=
i

%90 DR (cos ) Dz RD I\,

(1, \/g)v v = (-2, 2\/5)

(1) u

ML, u=a—2b, v=—a+7Tb

-
-

= (5,3), b=(2,0) |

(2) a



BEmEE 111 — BEEBEE (X7 K) (1B : {£RE AR

(3) a=(2,0,1), b=(1,-1,3) I L, u=2a—-b, v=—-2a—-0b

BIRE 1.5. <7 M la= (L, 1) £ b=(3,-2,¢) BERLTWB LTS, 0L
5, FH e DfERDE IV,

B 1.6. XDOZEMRZ L a,b DM EaxbZiltEL %S\, £/, N (axb,a)B
YU (axb,-b) ZFEL S,

(1)
(2)

PHEE 1.7. a = (1,2,3), b=(2,—1,1), e = (3,1,-2) oKL, REFELA X,

(2,0,1), b=(1,-1,3)
(1,-1,0), b=1(2,-1,3)

a
a

(1) ax (bxc)
(2) (axb)xe
(3) (a,c)b— (a,b)c

MIRE 1.8. RDOZEMR7 bl a,bicxfl, a L bDOMFICERL, EXB1DOXRT Lz
WRDE I\,

=(1,1,1), b=(2,—-1,0)
=(3,0,1), b= (1,2,2)

1
IR 1.9. X7 bla, b % 234L T 2 =MAIBOMHBED 5\/||a||2 16]2 — (a-b)2 125 L
WIEBRRLEZ N,

O

fIE 1.10. ZE/RIR7 Fva, b % 230 & T 5 ATHAEDMHED, a, b DAEDE S
la x b 1L W»Z EZRL RS, *2

*1 AOAB Dffiflint 1 (0OA DEE) x (OB R &) xsin TH5 I & (7L 6 = LAOB), Wiiolk
H (a,b) = ||al|| ||b|| cos @ & ZABEDME sin? 0 4 cos? 0 = 1 ZHVTRLZ X\,

*2 B 77X, a & b%2ETEHTINIEOmER /|al2][b]2 — (a,b)2 2L, X7 kL
a, b ZRAERL, |laxb|? & ||lal|?|b]|? — (a,b)? 2L\ EZREIF L0,

2



